? % k u Multiplicera decimaler med tiomakter
namn: Datum: Poéng:
6, 568 x 1000 = 3,363 x 1000 =

6,465 x 1000000 = 9,912 x 10 =

6,019 x 100 = 10,255 x 1000 =

3,498 x 100 = 5,493 x 1000000 =

1,379 x 10000 = 3,476 x 10000 =

7,993 x 10 = 1,062 x 1000 =

3,679 x 100000 = 3,697 x 10000 =

6, 389 x 1000 = 7,611 x 1000 =

4,337 x 10000 = 2,615 x 100000 =

3,458 x 1000 = 6,08 x 100 =
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? Q& k @ Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
6, 568 x 1000 = 6568 3,363 x 1000 = 3363
6, 465 x 1000000 = 6465000 9,912 x 10 =99.12
6,019 x 100 =601.9 10,255 x 1000 = 10255
3,498 x 100 = 349.8 5,493 x 1000000 = 5493000
1,379 x 10000 = 13790 3,476 x 10000 = 34760
7,993 x 10 =79.93 1,062 x 1000 = 1062
3, 679 x 100000 = 367900 3,697 x 10000 = 36970
6,389 x 1000 = 6389 7,611 x 1000 = 7611
4,337 x 10000 = 43370 2,615 x 100000 = 261500
3,458 x 1000 = 3458 6,08 x 100 = 608
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